Homework # 11b  Computational Review (Test 2)
All questions worth 6 pt unless otherwise marked.

	For the following set of questions, assume normal people score 50 on the Ceespotrun verbal ability test (σ= 8).  

	1.  Bob scores 66. Calculate his standard score by hand.
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	2.  If z = 1.5, what percent score higher?

6.68%    (Use “area beyond”)


	3.  If Biff scores 39, what percent score higher?


[image: image2.wmf]375

.

1

8

11

8

50

39

-

=

-

=

-

=

-

=

s

m

x

z


[image: image9.wmf]5000

.

1

2

000

.

3

ˆ

2

4

*

1

*

ˆ

ˆ

2

1

2

1

=

=

-

=

=

=

=

-

s

x

x

d

n

s

s

x

x



	4.  A class of 16 students average 53.  Calculate their standard score by hand.
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	For the following set of questions, assume normal people score 7 on the Wigginout Stress Test.  Individuals meditating score 7, 3, 4, & 6.  Answer the following questions relating to testing for a significance difference.

	5.  State the correct t critical.

tcritical = 3.182

	6.  Calculate standard error by hand.  [Hint:  Σx2 = 110, (Σx)2 = 400]
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	7.  Calculate t obtained by hand assuming a standard error of 1.0 (don’t use what you found in #6).
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	8.  Calculate the effect size or state why not needed.

Difference not statistically significant, so no need to test for practical significance.


	You ask people to rate the severity of their daily problems both before (7,8,5,4,8) and after working in a homeless shelter (6,7,6,3,7).  Calculate the correct t-test on the computer.

	9.  Provide the t obtained provided by SPSS.

t = 1.500

	10.  Provide the symbol and value of the standard error used by SPSS to produce t obtained .
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	11.  Explain the results in a paragraph.  Assume tobtained = 1.7 (do not use the t​ obtained you calculated).  [12 points]

The hypothesis was not supported.  Problem ratings after working (M=5.8) were not significantly lower than before (M=6.4), t(4) = 1.7, n.s.


	12.  Do rats taking the drug Dizzorex bump into walls more times than rates given a placebo?  Calculate tobtained using SPSS.

Dizzorex: 4,3,7,7

Placebo: 2,4,2,0                 tobtained = ___2.472______
	13.  State the H0 and HA hypotheses.

H0: ___μ1-μ 2 = 0 ________
HA: ___ μ1-μ 2 ≠ 0 ___________.
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	14.  Calculate the effect size or state why not needed. (Use the two tables above, not your results.)




	15.  Explain the results in paragraph form [12 points].  (Use the two tables above, not your results.)

The hypothesis was supported.  Dizzorex rats hit significantly more walls (M=5.50) than placebo rats (M=2.50), t(6) = 3.000, p≤.05.  The effect of Dizzorex on wall bumping was large, d=1.5000.



   0.4162


+ 0.5000


   0.9162


or 91.62%
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